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The question paper is divided into fwo sections.
Attempt four questions in all, sélecting two

questions from each. section.
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Section A
G
.Home unit labour requirements for the production of goods
A,B,C,DandEare 8,4, 10,4 and 6 respectively, while

the foreign unit labour requirements for these goods are

12, 16, 20, 24 and 18 respectively. Find :
() Relative Home Produétivity for all the goods,

(i) The pattern of specializ_atiori if relative Home wage

is 2.9,
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(if) Change in the pattern of specialization if relative Home

‘wage increases to 3.1.

() Show the determination of relative wages with a
diagram using relative quantity of labour and the
relative wage rate as the variables for respecti\-/e
axis.
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Using a box diagram, show the allocation of resources in
a two factor economy producing land intensive wheat and
labour intensive cycles. If the supply of labour increases
how will it affect the resource allocation and the output
of wheat and cycles ? Also show the change in. econo-

my’s production possibilities.
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‘How does intraindustry trade differ from interindustry

trade ? In todays fast growing' economies what is the

significance and importance of intraindustry trade ?
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What is the main cause of labour mobility between two

countries in one good model ? How does it affect the world
output, wage rates in both the countries and their

distribution of income ?
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Country X imports wheat at the price of Rs. 5 per kg. The
demand curve is D = 400 — 10P and supply curve is

S = 50 + 20P. Assuming country X is a small country :
()  Determine free trade equilibrium

(i) Calculate and graph the effects of an import quota

that limits impdrts to 50 kgs

"(fif) Find the increase in domestic price

() . Calculate the quota rents

(v) -Calculate the total effect on welfare of the importA

quota
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Under imperfect competition explain how government
intervention can shift the excess returns from foreign to
domestic firms using the Brander-Spencer analysis. Also

discuss some of the problems with the Brander-Spencer

‘ Ahalysis.
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Section B
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If the Dollar and Euro Interest Rate are the same i.e. 4%
per year, what is the relationship between the current
Equilibrium $ / € Exchange Rate a;ld its expected future
level ? If the Expected future $/€ Exchange Rate is § 1.62
per € and the U.S. Interest Rate remains at 4% per year

but Europe’s Interest rate changes to 3% per year, what

is the new Equilibrium $/€ Exchange Rate ?
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“An increase in the Money Supply can cause the Exchange
Rate to overshoot its long run level in the short run”.

Explain the effects of Permanent increase in Money Supply

with reterence to the above statement.
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Give reasons why the degree of exchange rate pass through

migth be less than one in the short run and what are its

effects on the timing of current account adjustment.
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Explain why the XX curve is flatter than the DD ‘curve.

XX 9% DD Th § ORI 99 F ¥ ? smem
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Explain how expéctation of future devaluation causes a

BOP crisis under fixed exchange rates, using suitable

diagrams.
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On the basis of disinflation of the early 1980’s, illustrate
using the Example of Prisoner’s Dilemma, the impqrtance‘
of macroeconomic policy coordination, by showing how
all countries can suffer as a result of self-centered policy

decisions ?
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In principle, developing country borrowing can lead to gaiﬁs
from trade. In practice, however, it can sometimes lead to
Default Cﬁsis. Explain Dafault Crisis and Sudden Stop.

What is the problem of “Original Sin” ?
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